
Panel Bed 

MADE IN CHINA 



1/15



2/15

21

1

1

1

2

2

2

3

3

4

5

5

6

7

7

7

7

8

8

9 x4

10

10

11 x5

12

13

14

15

16

17

18

1819

19

20

22

22

21

21



4PCS 2PCS4PCS

1PC 1PC2PCS

4PCS2PCS4PCS

2PCS 1PC5PCS

1PC 1PC1PC

1PC 2PCS1PC

3/15

Nut

Nut



4/15

2PCS 2PCS1PC

2PCS 4PCS24PCS

6PCS32PCS14PCS

14PCS 1PC4PCS

M8*12 M8*14

M8*20 M8*33 M8*45

M8*60 φ6*40 5*5

1PC

white zinc



2

5/15

1

M8x20C 4 pcs

K

K 1pc

C

14

14

15

Peel off the adhesive on the back of 
the LED strip, then stick it on part (14) 
in the direction of the arrow.



3

4

6/15

G 2 pcs
φ6x40

G
18

15

18

M8x20C 2 pcs

C

14

14

18

18

15



5

6

7/15

G 2 pcs
φ6x40

G

14

18

18

15

16

16

14

M8x20C 4 pcs

C



8/15

7

8

M8x12A 10pcs

A

A

11
17

15

Nut

M8x12A 2pcs

A
6

13

12

Install this 
screw first!

Nut



9/15

9

10

M8x33D 4 pcs

D

6

13

12

14

M8x60F 6 pcs

F

19

19



10/15

11

12

1

2

M8x33D 16pcs

D

D

D

D x4

M8x12A 12pcs

A
A

A
A

21

21

A
AA

A
3

1

1

1

1



11/15

13

14

M8x60F 4 pcs

20

M8x60F 4 pcs

F
F

20

1

1

46mm

19mm
FF

22

46mm

19mm

FF
22



12/15

15

16

M8x33D 4 pcs

D
D

1
12

13
1

M8x33D 4 pcs

M8x45E 4 pcs

D

E

E

8

9

9

7

7

Install screws loosely, 
don't fully tighten

Tighten screws D

x2



17

18

13/15

M8x14B 4 pcs

M8x20C 4 pcs

B

B

C

C
20

6
7

7

7

7

M8x33D 2 pcs

D

4
10

10

white zinc



14/15

19

20

M8x33D 2 pcs

M8x45E 2 pcs

D

E

4

5 

5 

5 x2 



15/15

21

22

Installation Complete

K 1pc

K

K

K


